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"ECTION I: SAQs - Attempt all questions '

3 jsease
. ) . P imunicable dis
17 Using malaria as an example outline the major points in a con

.-\
. 1 aria. (5 mart
*vcess and the measures to be taken at each point to control malaria. | /
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mple to show the differsnce between the two'study designs. In addition, give one
-+antage and one disadvantage of = tudy.. (5 marks e Ars ©
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Compare a ventilated improved (VIP) latrine with an orc inary pit (OP) latrine. (5
.'.":.l"l\'S)

Using the ‘Pathway to impact Approach’,

outline the 5 steps that precede the
“i=ction of the most appropriate key monitoring i

ndicators. (5 marks)

(Giving examples of each, differentiate between ‘ra

e’ and ‘ratio’ measures as used in
mogravhy. (5 marks)

DBriefly describe the FIVE types of learners/learning styles

“o consider when selecting
“zching methods for a health education session. (5 marks)

Identify five challenges that affect care-seeking by youth

for reproductive health
+rvices in Kenya. (5 marks)

<. \,\_/_ié}brelevant examples brieﬁlx digcuss any tw

inciples of prim _
vl sod  oleCdaibiday cevepe, g&w Iples o F ary care. (5 marks)
—P Cormeprrleglve cave e

4. Define the economic concepts of consumer and producer surplus. Give

an application
<ample in the provision of health care. (5 marks)

) What are the three kev strategies for reducing matermal deaths npe snffering

«crding to the experience from successful maternal health programmes? (5 marks)
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v and ths
14 students was seiectea tor a hypertension study
|n0' ﬁ}’\".’:ﬁ nf- r-n

1o made o1 the fasting blood glucose levzls:

s [252 Jrs< [
634 |83~ |95 |g-
857 |58 [64> |

(2) What is the median (
(b} Cal

(c) Caiculate )

2 mark a) o
Culate the mean, var ine: and standard deviation (6 marks)

e ceefficient of v.riation (2 marks)
(d) Calculate the standard erro; of the mean (3 marks)

(e) Construct a 95% confidence interval for the mean fasting blood glucose level in the

population from which the sanz/[ 2 was drawrt (7 marks)

-
't 2R S
Note:

Vi ’\ :
to5(23) = 1.7139 t@zs) = 2.0687  ty95(24) = 1.7109 t,,,e (24) = 2.0639

" A\,;,.".r/ -
l A‘\‘\,V}‘ /2. It tas been argued that

i 22velst el for current and fugyis

goc.' nutrition is the comerstone of survival

generations. Discuss (20 marks)
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LOMMUNITY HEALTH CONTINUOS ASSESSMENT TEST (CAT)
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INSTRUCTIONS

Read and follow the instructions. There are TWO sections to this
pPaper.

I. Section I: SHORT ANSWER QUESTIONS.
.  There are Eleven (11) Questions in this section each carrying a
maximum of 5 Marks, Answer ANY TEN [101.
ii.  Marks allocates to each guestion is indicated.

I1. Section I1: LONG ANSWER QUESTIONS.

i. There are Three (3) Quasticns in this section, each cariying a
maximum of 20 Marks. Answer ANY TWO [2].
ii. Marks allocated to each question is indicated.

The total time allowed for the paper is 2 hours.

Write your student registration number on each answer sheet used.
ANSWER EACH QUESTICN ON A SErARATE SHEET OF PAPER.
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Section It SHORT ANSWER QUESTIONS — Answer ANY TEN {10}

Questions from this Section

[ auf SR | LIy C\ y
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1. Ina case-.controfi study looking at the relationship between having freckles
and the risk of melanoma, 136 of 183 cases and 61 of 183 controls had

freckles B d
‘ (G v?ﬁ HZ"?I 1673
' . rel 6« i 2 [
j I you have freckles how much more liggglynare you to%e”%/glop ’

- _mel oma than someone who does not have freckles? Calculate and
INkErpret the appropriate measure [3 marks]
| b) How much of melanoma could be prevented if freckleswere

removable [2 marks] 9 '
v Anhd-bu £
Q—R"L" R\ /\g;— o
QOccupational Hedtt  G4p ¢id
T\ o o e
Zg(%g{ate three methods of Erg&enting fire out Lﬁak in pu/gh’E

institution
H Q
industry? [3 marks] Puccive -papcwe LCCw

j@ame two key stakeholders who, in case of a disaster such as fire or
e scale spill of a chemical, are the MOST heneficiaries of Material
Safety Data Sheet (MSDS) [2 marks]. — Ciz© ST
SR — T O\NCQ/ ’PQ"SC"\OAI

Demography Jp— — e @Uﬂd
?%,aa/ Name the source”of dat necessary in improving the overall birth

registration in any county in Kenya? [1 mark] \qug

( ighligh@ measures you can provide to improve birth registration

14 Marks]. - erq;‘&‘_%kea %Qrer?;l WD g AN Mok
./RCN\N

— Popvhy “Parroed candbans — locr adzﬁamp?&fm
MCH e | 6w
| éy¢h/at are the five ma?o?rgéggﬁ@%rl’bér‘srgtently high rates of unskilled

: 4 o
~"" birth attendance in Kenya? [5 marks]. mcw“‘ \&)lﬂ‘\(\\,wh 2
./_\_—-_- ‘\Q‘\Q-"\S’ C\QL\) (N‘G\ \':’\; '_‘f
¢ o) M N
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PH , - . A\ %
¥/ Using your experience and examples during ceimmunity diagnosis:y ik

; (a) List three key achievements of Community -ealth Strateng [3 marks]
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) 319“3-'1-.Ed_ucation
<O+ Discuss ar ap . ;
Mmarks (;'atc hi&“ll‘!l@_ ben\c;n~ Its of health education to a hospital [2.5 &
LIS“M N (\‘:t.;, 1,, :’-‘c\‘;_,,-‘(‘ A Qjé\-t"‘;)\\\
._Brie R,
\/A‘«af f I‘Y descrlbe, With use of an example, a primary and a secondary use
-a health record [5 rrarks].

CDC~

Ly 4

. OL{tline the major points in a communicable disease process and the
PoInts at which measu:as can ke taken [5 marks].

Health Economics 4»
9. Briefly elaborate ANY FIVE (5) KEY policies recommended by the World

Bank to overcome the existing weakness of health systems in
developing countries [ marks].

Medijeél Sociology
197 Select a cultural praclice and describe its implications on heaith [5

/ marks].

Nutrjtion
/1/1. Briefly outline Five (%) Sources of Error that may contribute to poor
quality anthropometry data collection in community health diagnosis [5

marks].
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SCTion 11 LONG ANSWER
Oues

£8T1 _ancwer ANY TGO (2) \
: SWER QUESTIONS Answ
YioNS from this S

/
=

section

S

Sicstatist

1 | anthropometric study to assess the nutrio riren 2t 10-years
children in a rural community, the average wught of_c'_.! e Adcant
of age was found to be 25.7kg with a standeid devnauo.n'or - r'worrrzally
these values as population paremeters ard that weight is
distributed,

(@)

nal status of school-going

. * _‘ -
What is the probability that a giver 10-year oldkchlad i 1S
community will have a weight greater than 24kg? [6 mar J

+(b)

What is the probability thattne average weight of 48 10-year
olds will lie between 25 and 27kg? {7 marks]

(€) What minimum weight do 10 year-olds in the community need to have
to be in the top 10% of the children by we.ght? [7 marks]

Use the following information to answer the cuestion:
Zo3529 = 0.38; Zo.0005 = 3.29;

ZO.14:7.1_ =1.08; Z.0.10 . 1285,
Zo_oés ;= 1.96; Zo_os == 164’5; 20_02275 = 2.00 -

Environmental Health

ol
’ \Ln:("
- & € v ~
27 Explain global warming process and its e/a\t_h\—e@ onhuman m@
[20 Marks]. ¢ ¢C> =y Q’j 1t

.(({\“\
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NCDB/CDC

Qg
Y g
. Using the concept of commonality of risk factc:rs,(

JUSty the targeting of
the four common risk factors of Non Communicable diseases o
“prevention in public health - [2C marks]. \}&M
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DATE: November 17 201¢ ¢
DATE: November 17,2016 :

TIME: 2.00 PM =4.00 P/

INSTRUCTIONS

Read and follow th:: instructions. There are TWO sections to this paper.

Section I: SHOXT ANSWER QUESTIONS.
i.

There are Eleven (11) Questions in this Section. Answer Any Ten [10]
questions.

ii.  Each Questinn Carries 5 Marks, Unless Indicated Otherwise.
Il Section ll: LON5G ANSWER QUESTIONS.

i.  There are Three (3) Questions in this Section. Ancucr Ar

¥ Two {2
JURILTNS.

ii.  Each Questicn Carries 20 Marks.

The total time allowed _r thic paper is 2 hours.
Write your student registration number on each answer page.

ANSWER EACH QUES ION ON A SEPARATE SHEET OF PAPéR.
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—.ct I SHORT ANSWERAQUESTIONS — Answer ANY XX Quas -.ons from this

lion

=) Epidemiology is applied in many areas. Give any two (2) v es of .
oidemiology in your future profession. (2 marks) :‘;ﬁ\‘;:{-;;:fg(“ L ,‘}Q@::ﬁ;”:b- ettt
Flesexhe. @ wtesuwh el S NS T
a . \ s . Pelua~i ko, odx b oask FaCtVRS
) A newly developed screening test for a certain uisease wils evaluated and

the results were as presented in the t2hle helow.

Q_( '\QS

‘With | Without | Total
o i Disease Disease
TEST RESULTS _Positive ! 350 a 1900 4 | 2250
N .o T T
. ‘Negative 150, . 7600 4| 7750
o Total 500 9500 | 10000 7 2

_}f(hte and interpret the following for the test: (3 marks, i mark each)

" s " . 3%
I. Positive predictive value. * ano .
ii. Specificity. /’\J""“/_.\_gco"’ wo

iil. Sensitivity. 150 \im
&Y

! ‘
or State tiree rnethods of preventing fire outbraak in anin-titution or

Gy
mdustry.

D) Name TWO key stakeholders who in case of a disaster su.ch as fire, spill of a
i‘ar/ge scale of chemical are the most beneficiaries of materis! safety data |
(MSDS). Elaborate on how they benefit from MSDS. '
/ (a) Name TWO health care related occupational diseases of +hich after
accidental exposure a post exposure prophylaxis is immedia:ely administered.
‘b)'l.list two types of psychosocial hazards and one health co: dition or disease
" associated with each hazard.

ceH

¢ You have been invited tg attend a meeting aimed atiimprov ng vital statistics '
for Kenya. Outline anyFIVEsuggestions that «2n improve the civil registration .Df/'“t’cfc‘»‘vr'
and vital statistics sysiem for Kenya. B ' -
- J-JT}?I}}‘ then )?(leﬁ%l’!htfy J‘/‘z.‘ib’\.ﬂ:\lj f}’\gﬂnl.f"r Gl LC}JQ ?()'761‘}‘)“" T ul
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©3ing the exaniple o ubesily describe the impact of Irestyle on health 1o D

2 qj‘: 8
%nmy and discus: five behaviours that voy m\ght want to addressin a ’ Crud

community health };-omotion mterventlon m.mu

- ' :gno chage ] et \/( jm\lf '
7. Urhafis o
7. Urhafisation may c- itribute to poor health among urban residents. Explain. -

-~ . . .
V%/) Differentiate price easticity of demand, €ross price elasticity of demand and
income elasticity of dernand | L

\/he central strategy in efforts to reduce maternal deaths is timely emergency
0

bstetric care for women who develop Lomphcatlons Descrlbe *he standards

L} O~
for Basic Emergency Obstetnc Care.” g,goc» LM - )3%),,?2,3:“; :ﬁ;‘:or .

“‘D 1) ﬁ\*\mﬂv& Vo, Ao .
‘\LO/ |")) L’O\m'«-’ R WY e
efine a communicaole disease and outline the major P at which a

ints,
o bt ~ 4..] A
communicable disez .e can be controlled. "“ .3?;2: ked b
‘é)‘ A 3 l} ‘t(‘t
‘Q—L.;é\;.\ ) Gi'{‘v
¥* 11 4Fiefly discuss the vis.on and miscsicn of Primary Heaith \.a e lPHG T 'fe.;
. e I a
[
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tion 11 LONG ANSWER QUESTIONS - Answier Any TWO Questian®=== N

“tion. ) X
s/

/

sertension study

R THR I sSUres:
»7d the following observations were made on their diastal:: blood pressy
7:?’/ 78/

'@X’ 72/ 86 8oy 79/ 68 85 18 T3 83 N
3= % . 7 3 4 72 .
i/ 82 1) €9 w1 Ay 1, TH o @ nn e

A random sample of medical students was selected for 2 0

M s
17 787 7157 747 81” @ 73/ 2 85 72 79/ 8L Nl
iy
Whﬂat is the medianjq(l(d\ /Mk""& YA (7: marks) e
b} Caleulate the meari, variance and standard deviation (6 marks) o 108
T\")' Calculate the coefficient of variation (%’f = (6 PR (2 marks) e

0 ] 7"'(‘ = 9.
i Calculate the standard error of the mean L}-{r’\ “

¢) Construct a 95% confidence interval for the mean diasta'iz blood pressure

- in the Population from which the sample was drawn G o (7 marks) .. - (5
" CLxSTeaTy ey T .7"’,&)5
Mea £ CT » #Ajf'jg*“'
'sirg relevant examples, explain the linkage of any three halth systerns @\2}-‘9“’2» JOJ‘LW\D@\’(

~—~—

widing '\JiU(('kS and health care outcomes tor a local commuiity in Kenya (2 o taf f-'.-‘”m JL;"
i T e (v ¥ A=
"ferks) ey Vi (

‘|‘. \Ofﬂ,}\,' \'..1'- » 4&\5"
— ExSe-hel ,gubpp\("‘ [{/!b V%v%wt%}(&\' v L
- ‘&Tﬂtﬁtﬁ& w\’f"\b (;\“}3_3\5!' ‘0" @) f'ﬂ" C .:S
B T .ol R QT
Jsing examples, discuss Any Five (5) high impact nutrition 't‘e)z){ﬂve'nti?ns W ) ¥

5 \_L‘{\;’-- :-
nplemented-within the health sector in Kenya [20 Marks]® RS Ll
ya [ \ ]G:\ ‘TC e ~op” ,\@? D d,\\‘.

“‘Wﬂl W S nansue O Sl A B R
i pepf < piledde” N o
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(3 marks) W

~ Mote: {95 (35) = 1.6896 tors (35) =2.0301

e eas Thas?
¢ dhdpadle Agx XX £C-2D Rl e 'ﬁﬁ:&«}
cr 6 S 393 -l T a2, TP ey
.0 PSS gl -\ -2 o R
i / .
g ¢S ' 79,
oy EEE B 2 D ' b
4 IV Sile )" = LS, S
Z4 36 2 23 ZA Q%) = 15453
Hom AR 22052 2 760 | % <
- A3 ' 34 22
Gl 5 '
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